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#13 (8+13) C+

1.2b3+ @p5 2 Lxd5+? ®as4 3.2xc6+? xc6!/Axco!;

1.8)f7? too slow;

1.Bf5? too slow;

1.2p3+ ®p5 2. 2xd5+? a4 3.%b3+ ®p5 4. L2xc2+ @ch
5.8f5 $xf5l/dxc2!;

Solution:

1.2b3+ @p5
2.82xc2+ ¢4
3.917 (4.9)d6#/ Se5#) 3...Axf7
4.2p3+ @p5
5.82xd5+ a4
6.%2b3+ p5
7.2d1+ ®c4 (7.52c27 ®c4 8.Bf5 dxc2l)
8.8f5 (9.Hc5#) 8...%xf5
(8..9e5 9.Oxe5 %d5 10.2b3+ ®@p5 11.%xd5+ ®ad 12.2b3#)
9.82p3+ @p5
10.2d5+ a4
11.2c6+ 4Ap5
12.Ba2+ b3
13.22d5# model mate
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#15 (8+14) C+

1§2g2? (2.%2xc6#) 1...%e8?
S2f3 (3.%2d1+ b5 3.9c3#) 2..f1=% 3. 9xfl upto 9.8c3#),
but:1...$c7! 2.82xc6+ A5+ 3.2xb5+ axbs
4.8e4 (5.2e-c3#) 4...b4l;
1.9e4 (2.9e-c3#) 1...%p5 2"392’? too slow;

Solution:

1.8e4! (2.9e-c3#) 1...%p5
2.8)e-c3+ ®c4
3Qa4l (4. @d2+ @p5 5.49c3#) 3...%p5
Qg2 (5.%xc6+ ®ca 6.9d2#) 4..%e8
5@a03+ @cy
6.9e4 (7.2d2+ b5 8.5)c3#) 6..%Db5
(6..f1=27 7.2xfl a4 8.9d2+ ®p5 9.8c3+ a5 10.8)caH)
7.8e-d2 (8 Ac3t) 7...®as
8.%f3 (9.2d1+ b5 10.8)c3#) 8..f1=W
9.9xf1 (10.8f-d2 ~ 11.%dl+ b5 12.8)c3#) 9..f5
10.2d1+ ®p5
11.8c3+ ®c4
12.9f-d2+ ®xc3
13.9p1+ %cq
14.2p3+ @p5
15.8)¢3#
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#14 (9+12) C+

If 2296 was on the 5 square, White could play: 1.8)e6 ~ 2.8)xf4#;
1.25? too slow;
It takes a complex manoeuvre to transfer the 296 to the f5 square:

Solution:

1.2h5! (2.213#) 1..%c2
(1..%e4? 2 23+ @43 3. Ec3#)
2.8217+ eq
3.9e6 (4.22g6+ ®d5 5 .SxcT#/ Dxfaf) 3...9f5
4.8 c-da+ Se4/®es
5.8)f3(+) @f5
6.5)e-d4+ ®eq
7.§2g6+ @5
8.52e8 (9.52c6#) 8..%e4
9.%2c6+ d3
(9..d5? 10.2d7 %de 11.Dc3 d1=A+ 12.Dxc2 ~ 13.%15#)
10.2d7 (11.%f5#) 10...%e4
11.2f5+ €5
12.8)e6 (13.Dxc7# xfa#) 12...%xf5
13.9xf4+ $e4
14. B ca#
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#17 (8+12) C+

1.Bbs+ @37 2.8p5+ @xa6 3.Bb6+? cxb6!/Exb6!; White must get rid of these two defenders.
1.8p8+ a7 2.9p5+ Bxap 3.8)xc7+ ®a7 4.9b5+ Wap 5.48)d4+ ®a7 6.9xc6+? Axch!;
butnot: 5...Exc4? 6.Bb6+ a7 7.8b5+ a8 8.Zbs#;
To force this move & cxc4, @e7 must be deflected away from the cover of X c6.
1.Bg8+? %xgs!
Therefore #h7 must be first deflected away from the cover of the g8 square.
1.Bp8+ 37 2.9p5+ @xap 3.8)d4+ a7 4.Bg5? (5.0xa5+) 4..%f57?
now White could continue with: 5. 2g8! ~ 6.Bas+ b7 7.5 g-bs#;
but Black defends with: 4...e1=W! After 5.2)b5+ ®a6 6.8c3+ White blocks the diagonal e1-a5,
but Black now defends with 6... ® exc4! From White's point of view the "wrong" rook captures the bishop!
To prevent the strong defensive move el=W at first ® e4 must be deflected away.

Solution:

1.8p8+! @57 2.9p5+ $xa6

3.9xc7+ a7 4.2e3+ Exe3 (deflects Ee4 away)

5.8p5+ a6 6.8)d4+ a7

7.Bg5! (8.8xa5+ Eap 9.Oxa6#) 7..%f5
(7...e1=%7? no longer defends!) 8.8)b5+ a6 9.2)c3+ a7/ Excs

10. Bxa5+/ B b6+ Ea6/®a7 11.2)b5#/ B xas#;

7..65? 8.8)b5+ a6 9.Bg7 upto 14.#)

8.8)b5+ ®ap 9.9)d6+ a7

10.8b7+ ®®ag 11.Bg8+ 4Axg8 (deflects Me7 away)

12.Bpbg+ a7 13.9b5+ a6

14.9d4+ Exca 15 Bpe+ a7

16.8)b5+ a8

17.Bb8# model mate
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#14 (8 +11)

1.8p4? (2.8)c6#) 1..%xd4 2.2f6+ @c5 3.8d3+ @d6?

4.%e5# - refuted by: 3...Exd3!;

1.8p8 (2.8)c6#) 1...
1.8g5? (2.8f3#) 1..

. ®yd4? 1. Sif6H:

Solution:

1.9p8! (2.9c6#) 1...
2.2pb4 (3.9c6#) 2...

3.9d7+ ®d4
4.9g5 (5.9f3#) 4...
5.8)f3+ Exf3
(5.8p8? ®e5 6.2
6.£1b8 (7.2)c6#) 6..
7.2e7 @d4
8.2f6+ @5
9.9a6+ ®d6
10.22e7+ ®e5

@44 2.8c6? @3l

f3!;

@44
@c5

Kf)

2e7 f3!)
@5

11.89b4 (12.9c6#) 11...€d4

12.8216+ @c5
13.9d3+ @d6
14.%2e5# model mate
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#16 (4 +16) C+

1.2b4+ ®p3 2.2d2+ ®a3 3.Hba (4.2b5#) 3...%Db3
4.Bxga? (5.%ba#t) 4...Axga!l

1.8b4? (2.9b5#) 1...%p3 2.Bp5 (3.2b4#) 2...4Ad5!

3.Bb7 (4.905#) 3..4p6! 4.Hxb6 Exas!

Solution:

1.82b4+! @p3
2.2d2+ 33
3.Bb4 (4.9b5#) 3...%Dp3
4.Bp5 (5.%batt) 4..%d5
(4...Ep5+? 5 8 xb5#;
4..4d5? 5. H8p7 Ac3 6.%2xc3 %d5 7.BEb4 %p3 8.Hps %d5
0.&f6! Ef5 10.Q2e7 Efg+ 11.8)c8+ db6 12.L2xd6#)
5.S%b4+ €p3
6.%a5+ 33
7.§2d8 (8.8ca+ %xca 9.%2e7+ d6 10.2xd6+ Ec5 11.%2xc5#) 7..9g8
Sp6 (9.%2c5#) 8...%p3
9®a5 (10.%2b4#) 9...%d5
10.2b4+ b3
11.2d2+ a3
12.8ba (13. @bs#) 12... %13
13.Bxg4 (14 2b4#) 13...Af4
14. Bxia $ca
15. 813+ %p3 16.9ca#
15..%d3 16. 2 xd3#
14..%d5 159p5+ @p3 16,2 ba#

No. 6



